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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 37 questions. All questions are compulsory.

(it)  Question paper is divided into six sections — Section A, B, C, D, E
and F.

(iit) Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B — Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

(v)  Section C - Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

(vi) Section D - Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 85 marks. Answer to these questions should not exceed
120 words.

(vii) Section E — Questions no. 34 to 36 are Case/Source-based questions with three
sub-questions. Each question carries 4 marks.

(viit) Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)

1. Imagine you are travelling from Delhi to Chandigarh to attend a
wedding, by road in January. Which of the following crops will you notice

prominently in the fields during the journey ? 1
(A) Paddy
(B) Maize
(C) Wheat
(D) Jowar
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2. PO TNETRT e H M T ST § HeiTerd Hel forehed T =2 hiieig ;
(A)  FAIeH, B AR AHATE
(B) TR, Flesh HIT HATY TawT
(C)  TSRIA, HEWIS S 7 Yawr

(D) HES, AT Yo 3 e

3. WY IHEY II ¥ faam HifST i g2t faerea o1 === Fifsre

Ty I iy I1

(1) ()
a. W 1. ELEIG)
b. T AR ii. o
c. NS EWR iii. wEd
d. ﬁg{' iv. HEMer
e :

(A)  a-iv, b-i, c-iii, d-ii
(B)  a-i, b-ii, c-iv, d-iii
(C) a-iv, b-1, c-ii, d-iii

(D)  a-i, b-ii, c-iii, d-iv

4. gigen 9 fiee fefafaad o re asad Reaa g 2

(A)  FE IS
(B) TSYH
(C) WY
(D) WIS
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2. Choose the correct option regarding major states involved in the
Krishna — Godavari issue : 1
(A) Karnataka, Kerala and Tamil Nadu
(B) Maharashtra, Karnataka and Andhra Pradesh
(C)  Gujarat, Maharashtra and Madhya Pradesh
(D) Jharkhand, Andhra Pradesh and Odisha
3. Match Column I with Column II and choose the correct option : 1
Column I Column I1
(Dam) (River)
a. Hirakud i.  Chambal
b. Gandhi Sagar ii. Krishna
c. Nagarjuna Sagar iii. Kaveri
d. Mettur iv. Mahanadi
Options :
(A)  a-iv, b-i, c-iii, d-ii
(B)  a-i, b-ii, c-iv, d-iii
(C) a-iv, b-i, c-ii, d-iii
(D)  a-i, b-ii, c-iii, d-iv
4. ‘Sariska Tiger Reserve’ is located in which one of the following states ? 1
(A) Madhya Pradesh
(B) Rajasthan
(C)  Uttar Pradesh
(D) Maharashtra
Page 5 of 27
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5.  9Nd § o o fAAfeifad ot s &ehe st gfte O wer AT & Tl w9 % A A
sqaferd SHIfSTy 37T gt forerey o1 =g i
I. Tfera
1. @
1. 7Erichd
%ﬁh_c'q:

A IILILI B) LILIII
(C) ILIILI (D) IILLII

6. W chfTe for a1 154 sraTedt s fiie depfa wamu @ € | Fafafed § @ &e-ar
T I T ETH el v & 2
(A)  geAw uiglettl deh ATEH Tg=
(B)  TEAShIcTAl shl TSIl § HHT
(C) U3 ol BT & iUl a shl 70T § SgIaRt
(D) T dash ok adiswar & afa

7. e 3% HIdoH & NG & :
(A) TR T
(B)  hicwe™
(C) el €T
(D)  3TThE It

8.  I~fudl wdl de AN o W & Tl 9 % Ffafed wron @ ey 3w
foreped w1 = FifSiw
I Tt SR
II. Tl sl Edie-wied
1. st s sSesren
IV. e 2ohd 3R &8
'%F:Wq:
(A)  FHad L 1T I ar e |
(B) wad II, III IV H&I & |
(C) shaa ], III IV H&T& )
(D) Haa I, II IV &1 & |
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5. Arrange the following categories of forests in India from the largest to the
smallest in terms of area and choose the correct option : 1
L Reserved

I1. Protected

III.  Unclassed

Options :

(A) HILIII B) L II,III
(C) ILIII (D) 1L ILII

6. Assume you are doing research on 150 century print culture. Which of
the following would be the most significant advantage for your research ? 1

(A) Easier access to rare manuscripts

(B)  Reduced need for libraries

(C) Increase in the ability to copy text by hand
(D) Increased speed and accuracy of print

7. The author of ‘Book of Marvels’ is : 1
(A)  Marco Polo
(B)  Columbus
(C)  Vasco da Gama
(D)  Alfred Crosby

8. Read the following reasons of migration of people from Europe to America
till the 19th century and choose the correct option : 1

L Poverty and hunger

II. Slaves for sale

III. Wide spread of diseases

IV. Religious conflicts and persecution
Options :

(A)  Only I, IT and III are correct.

(B)  Only II, IIT and IV are correct.

(C)  Only I, III and IV are correct.

(D) Only I, II and IV are correct.
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9. fAfafad § & &F-81 &7 1866 H Tehishd g2t ol fewdT o147 2
(A)  @rrefET-dferive

(B)  aAf3m@m
(C) fafet
(D) UIA ST

10. F= A wE 1 TE 11w mu § | ST et ot eamgdes afeu iR aet fashed 1 =
FHIfTT

FT1 : SRt § e It JeeieRtor i SfsRaT S I A ATl T T
FFH T |

%9 11 : 3O it SRl qoh g3l shi <lisfert SATfel shl oha STHTd ot & foha & |
e :

(A) o I3 II ST Eet & ST e 11, e 1 o1 Tl e € |

(B) % I SR II ST Wl &, 0 o 11, e 1 oh Hel e 781 € |

(C) FHIEEE, g Fa I a2 |

(D) o 17T &, T e I Hel € |

11. 9 o el &t # frefcrfiad 3 @ siH-61 gog S1oet ST o6l STraeehd 3Tt sl QU
o foTq Srter=ies i o it 2 2

(A) T TiER

(B) W |l dTel IR

(C) I, T 3T A T ATet IiEr
(D) 3, THE 3R & IR dTel TRaR
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9. Which one of the following regions became a part of unified Italy in
1866 ? 1

(A) Sardinia-Piedmont
(B) Venetia

(C)  Sicily

(D) Papal State

10. Two statements I and II are given below. Read both the statements

carefully and choose the correct option : 1

Statement I : Rapid improvement in technology has been one major

factor to stimulate the globalisation process.

Statement II : This has made much faster delivery of goods across long

distances possible at lower costs.
Options:

(A) Both statements I and IT are correct and statement II is the correct

explanation of statement I.

(B) Both statements I and II are correct, but statement II is not the

correct explanation of statement I.
(C) Statement I is correct, but statement II is incorrect.

(D) Statement I is incorrect, but statement II is correct.

11.  Which of the following groups in urban India depend on informal sources
to meet their credit needs ? 1

(A)  Poor households

(B) Households with few assets

(C)  Both poor households and households with few assets
(D)  Both well-off households and households with few assets
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12.  Trior &5 | foREET o foTT et Seht @ SROT HT ShisT = B S @ 2 efefaa
TN b ST T e SUFeH forshed b1 =13 hifST :

I SR hT 37T
II. e gfsham

III. =ROT Y I=IdC AT

IV. SIHTehdT bl ST
e :

(A) a1, I I wE )
(B) Aot II, III 3R IV eI |
(C) a1l I IV T & |
(D) @A I, I FRIV TE& |

13. feuwwu fomr ot 2figu ot 3ges i fou 7w 9 st S difsie

o 7 fomar ST STt s srefeararee 3 foher &1k 3 STaTid JTTAT R 2
(A) g (B) =gl (OMREGIRED (D) qdH

qe :  FHETCTRaT T97 FHact gleearieard TReTierar & o7g J97 68T 13 % €I WS |
Frefefaa o @ foreent el srelereen & fediaes &5 o aTrar e ?

(A)  wYHEE! eI (B) WEHR

o

(C) TRl R (D) #HAW

D
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12 Why does it become difficult for farmers in rural areas to take loans from
government banks ? Read the following reasons and choose the most

appropriate option : 1
I. Lack of collateral
I1. Complicated procedure

III. Higher cost of borrowing

IV. Lack of awareness

Options :

(A)  Only I, IT and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Only I, II and IV are correct.
(D)  Only I, III and IV are correct.

13. Look at the given picture and answer the question that follow :

The work being done in the picture falls under which sector of the economy ? 1
(A)  Primary (B) Quaternary (C) Secondary (D) Tertiary

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 13.

The work of which of the following comes in the secondary sector of the

economy ? 1
(A) Bee-keeper (B) Moneylender
(C) Basket weaver (D) Fisherman
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14. X U % H &1 2 | I8 Gl bl @l o YA AT W F@1 8 | X H HR
SAIGEAT o T &5Teh o JTaTia ST 2
(A) IR (B) fsdrre
(C) Tt (D) =Iqeish
15.  “forva e foaepre geehisr @ weiftrg Fmferfad dferent 1 steem sy o1 3
e fow T g9 &1 SR i
#d | fereay 3 A foerer
AT I FHIF
1 Yid 130
2 R 148
3 EEIC 149
4. | iR 150
faw  3ent & @, ffctiad # & siH-|1 <31 e e gerehish § ITeaH €O W@di 8 ?
(A) iR (B) wwa
(C) Aua (D) TIER
16. frmfafad 7 & -8 TsHifer a1 o g7 e & 2 |el foeney i == Hife
I. 9T
1.  afh aeer
III.  ©mefs
IV. S aE
IECTG

(A)  FaAL II I T e |
(B) ad II, III IV H&I & |
(C) FHad L III IV w&r )
(D) FHaAL II IRIV g &)

17. i @ @ wel grferd I =i = hifT :

(@) ()
(A) AT —  UHHS
(B) dcftfor - HuTHS
(C) ARferm -  UwmeHS
(D) & —  THHS
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14. X lives in a town. He cultivates flowers along with animal husbandry.

The work of X’ will fall under which sector of the economy ? 1
(A)  Primary (B) Secondary
(C) Tertiary (D) Quaternary

15. Study the following table related to ‘World Human Development Index’

and answer the questions given below : 1
S. No. | Country HDI Rank in the world
1. India 130
2. Myanmar 148
3. Nepal 149
4, Pakistan 150

Amongst the given countries, which one of the following countries has the
highest rank in ‘Human Development Index’ ?

(A) Pakistan (B) India
(C) Nepal (D) Myanmar

16. Which of the following are the main components of a political party ?
Choose the correct option : 1
I. Leaders
II. Active members

III.  Followers

IV.  Pressure groups

Options:

(A)  Only I, II and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Only I, II and IV are correct.
(D) Only I, II and IV are correct.

17.  Choose the correctly matched pair from the following : 1
(Country) (System)
(A) Canada - Unitary
(B)  Bolivia - Federal
(C) Australia - Unitary
(D) Spain - Federal
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18.  dfcsEm T 1o SIgHEIHATE shi G 1 guraT frfeiad § & forer wehm sht e
SHAET h! g3 b Tt 2
(A)  TpIHS (B) ITATHS
(C) HHTCHS (D) GHQIHH

19. WY1 % &Y [ e Shifse ot gt fosheq o1 === hifse

oy I Ty I1
(@) (9@ @)
a. g ITEh i T
b.  3Y¥h ii. oo
c.  STES iii. =S
d.  &Fdr iv. TR
e :
(A)  a-iii, b, c-iv, d-ii (B)  a-iii, b, c-ii, d-iv
(C) a-ii, b-iii, c-1i, d-iv (D)  a-ii, b-iii, c-iv, d-1

20. F=rar e g | 3 stfimpe (A) SR HROT (R) § | ST AT bl e 9oy

TR HE forehed 1 =1 ST -

AR (A): @S g e & AT sTfard v |

R (R) : ot TSt aeqatl 1 @IS o STTawrshaT il & |
Tererea

(A) (A 3R (R) 3HI & & 3R (R), (A) i H& A7 |
(B) (A) 3R (R) 3 w&l €, T (R), (A) I &l AT & 2 |
(C) (A @&Ie, 9q(R) Td e |

(D) (A) T ®, W (R) "ET 2|
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18. Belgium solved its problem of majoritarianism by strengthening which of

the following types of government ?

(A)
(®)

19. Match Column I with Column II and choose the correct option :

a.
b.
C.

d.

Unitary
Federal

Column I
(Minerals)

Iron ore 1.
Mica ii.
Bauxite 1il.
Coal iv.

Options :

(A)
(®)

a-iii, b-i, c-iv, d-ii

a-ii, b-iii, c-i, d-iv

(B) Presidential

(D) Parliamentary

Column I1
(Major Mines)
Gaya
Singarauli
Chandrapur
Maikala

(B)  a-iii, b, c-ii, d-iv

(D)  a-ii, b-iii, c-iv, d-i

20. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements carefully and choose the correct option :

Assertion (A) :

Minerals are an indispensable part of our lives.

All living things need minerals.

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

Page 15 of 27

Reason (R)

Options:

(A)

(B)

(C) (A)1is true, but (R) is false.

(D) (A)is false, but (R) is true.
I 32/1/2
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(et erg-Iwda ) (4x2=8)
21. W H 1990 % 3 H & hl 75 ISRIHT sht Tfsham F Forer TR Avefishaor bl srgrar
feam 2 Trse i | 2
22,  -TTeRter <l G o AT o fohegl &1 SUTIT ol SATE hifT | 2
23. WA ! faaiehTat § Aieaal & NidfToee sl S o foTg i & 39T GTsT | 2
24. (F) R H IYFEH TAE % I8T | IuHoRTEE et sticier ht et wr
T T | 2
AT
(@) TS o T e o AT d & ATCHEA 8 ? 3T qeh aoht §I8 HITST | 2
Lug T
(GREEERED)) (5x3=15)
25.  “HETeHT TITeft o forermll ST Terst shi ST oh ST o ASTQU 2l AT waer off |2 3ram
o ST HSTgl o Hew H 56 2 i qiee hifT | 3
26. (F) Alhdd H TSHITH ol o HETT ohl SHTEAT SHITST | 3
HYAT
(@) WA A Tgac AT i F1 YT ? I(ord qent Hfed SATEAT HiTVT, | 3
27.  “TAT h WA TIESA QKA hl AT & |7 $ HIF 1 ITIH qoh 9okt e
HifSTT | 3
28. i@ Fert = ufey 37t 35 Fi= fiw T ye @ s s
et &6t et
Tt s1ew # fop & STl & # U TNER & A1 T DI Tid | &t 8 | 98
WW%WW@H‘&[%E@W@?[ T T FHIEHT I STATHT FTF Fld
é@ﬁm%mﬁ%laﬁ’m IRER & T o A1 A1 o Tl gRT g
F o ¥ U AR S0 O 1 R 0§ wErEdr w2 | g e ghe A
TS Tt © 3 ST d G9e & I&T &I dlﬁdl%l ] w@ﬁaﬁ?aﬁ?ﬂﬁ@ﬁﬁ
firgh ol Tredt 3ear o o § o Wi vdr T & Fordes 0T 36k TNER i 37T a9 ¢
W % ZS T T FE B |
@ &1 TRAR %9 IR FI Tt FX @ 8 2 3G9 Tl gl favarstt &1 quiq
HIfTT | 1+2=3
29.  37AIIEAT & GIf T TGS &sTeh! H ISTEL0T Hfdd ¥ Tuse hifSw | 3
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21.

22.
23.

24.

25.

26.

27.

28.

29.

#
SECTION B
(Very Short Answer Type Questions) (4x2=8)
How did the process of liberalisation initiated in India in the 1990s,
promote globalisation ? Explain. 2
Explain any two measures to solve the problem of land degradation. 2
Suggest any two measures to increase the number of women in
legislatures of India. 2
(a)  Explain the role of anti-colonial movement in the rise of ‘modern
nationalism’ in India. 2
OR
(b)  Why did Gandhiji say ‘Satyagraha is pure soul-force’ ? Explain by
giving two arguments. 2
SECTION C
(Short Answer Type Questions) (5x3=15)
“Workers too had their own understanding of Mahatma Gandhi and the
notion of Swaraj.” Support the statement in context of plantation workers
of Assam. 3
(a)  Explain the importance of political parties in democracy. 3
OR
(b)  Why did India adopt the multiparty system ? Explain with suitable
arguments. 3
“Power sharing is the very spirit of democracy.” Support the statement by
giving suitable arguments. 3
Read the story of Rinjha and answer the question that follows :
Story of Rinjha
Rinjha lived with her family in a small village at the outskirts of
Diphu in Assam. She enjoys watching her family members clearing,
slashing and burning a patch of land for cultivation. She often helps them
in irrigating the fields with water running through a bamboo canal from
the nearby spring. She loves the surroundings and wants to stay here as
long as she can, but this little girl has no idea about the declining fertility
of the soil and her family’s search for a fresh patch of land in the next
season.
What type of farming is Rinjha’s family doing ? Describe any two of its
characteristics. 1+2=3
Explain the difference between organised and unorganised sector of
economy with example. 3

I 32/1/2 Page 17 of 27 P.T.O. I



30. (@)
)
3. (#)
@)
32. (@)
(@)
33. (#)
W)
I32/1/2

#
Qug ™
(Srd-3wiT a9 ) (4x5=20)
e o Teh1ahLoT H ST AfeaeT oht et a1 forgeroor Hifsr | 5
arera
“1830 T I JAT F WRT HISAGAT T ATHT THT ST & |7 39 HA Al
fereersor iR | 5
AT N GG & IET 6T fiiehT Y T I qAT AR TGV Y B FH B
foreft offr st B e | 2+3=5
arera
STt YOl SGT H SN shl HehT 3l TS HITSIT AT ST FGHUT bl HH HTA oh
foreft off st B g | 2+3=5
“TcT o THIUT ST & foh o0 o g | H AT STt 3 31fd ST Tk T
Hehe ST ST T8T @ |7 fohrer o amofiadt & e # 36 o 1 oo
I | 5
areraT
“fofir=r 2oft < ST o forerm o 1ewr 1T &1 Hehd © |7 38 o T ik
I | 5

AR o TNOTTHI 3T Hea o T aTet foheal Uier SHTUT sht SATEAT hiTST | 5
STET

TR o Tohre] Uiel Jeail ohl SATEAT SHISTT | 5
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30. (a)
(b)
31. (a)
(b)
32. (a)
(b)
33. (a)

(b)

I 39/1/2

#
SECTION D
(Long Answer Type Questions) (4x5=20)
Analyse the role of Giuseppe Mazzini in the unification of Italy. 5
OR
“The 1830s were considered the beginning of great difficulties in
Europe.” Analyse the statement. 5
Explain the role of industries in increasing air pollution and
suggest any three measures to reduce air pollution. 2+43=5
OR
Explain the role of industries in increasing water pollution and
suggest any three measures to reduce water pollution. 2+3=5
“Recent evidence suggests that overuse of groundwater is
becoming a serious threat in many parts of the country.” Evaluate
the statement in the context of sustainability of development. 5
OR
“The development goals of different categories of people may
differ.” Evaluate the statement. 5
Explain any five bases for assessing the outcomes of democracy. 5
OR
Explain any five values of democracy. 5
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(R /ETA- AT T T9 ) (3x4=12)

34. feuwm i i ufeu i 3ees et fow g wet & s e
TgeRrl wferfoat & s

Siehi o YT ATHIOT &1 3 T&d 0T T Tk 31 W@ A Feh AHIE] § |
HEHHT HHTT o TQET SO HHTEHT hl F &A1 H FeANT o T TH HLd © | 3 Th1
o1 kT AUl € €, S — foheTT, SeRtl Tel STeifieh asTql geaTie oht Heehmt
gfufal | F9F FePM WHfd WG % TSE TH TE § HM Hdl 8 | §Eh
2300 foFe™ wee § | 78 370 TeT & SHT TS T & | 36 STHT Y T ROTIR HHS
BU, 39 Teshl Wil 3 sk & ST k0T T {61 & | 56 USH T SEqHTT HERAT bl st
& 9 T forarm SITT @ | 318 0T Ale o TG st 3T GEU G J[& fohaT ST Hhall € |

Uk TEHRT HIHIT HTY YT BRIGH, Wl TAT HY SATIR T, TS Tohe, T
S SR 37 TP JehR o Wit o foTQ 0T et harell @ |

(34.1) "R Hiwfcral ko1 3 fopg B o FAavia AT & 2 1
(34.2) TeTh et 1 Rrt gt 3 21 it 01 Seore Hifvmg | a1
(34.3) ToRETI ohT AT g H TEhT WA shT YfFehT i T SHITT | 2
35. fou g E i afew 37t 3wes i fag g et o s i
fite o uferater

AlSd F7og shl dqTehd T TS SFHEL TLHI G I8eh! (BT e Al wifen &
firetar & | I 7 Sfufrafites Temes ene aure et R w-tskTel W TSR W@
ofT QT S R 2307 T o T sIgaq- i i e o |

Tt fored I8 % S, TRaT T&T o o qed, 22 TSR i SHa ot aey of |
TTH U 18 TR STe A T STE Ga il 573 L o1 3fere qorem | Feae ok et
I S WiHfd 4 1919 # fafi= steerl o faetrs ST s11fe sHiiamsat i 3
T T T | Tl fomer 3, ot S[eetTa o, Wik e sttt i fopar e, anfer
Fg-weelt foart ot Ter fopam ST 6o | ITRA SISl S & e a0 U 36t & d8d
THT BT off | ST 1942 | TR 90 SIS T G fomdT 7T |
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SECTION E
(Case/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :
Loans From Cooperatives

Besides banks, the other major source of cheap credit in rural
areas are the cooperative societies (or cooperatives). Members of
a cooperative pool their resources for cooperation in certain areas. There
are several types of cooperatives possible such as farmers cooperatives,
weavers cooperatives, industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It has
2300 farmers as members. It accepts deposits from its members. With
these deposits as collateral, the Cooperative has obtained a large loan
from the bank. These funds are used to provide loans to members. Once
these loans are repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of
agricultural implements, loans for cultivation and agricultural trade,
fishery loans, loans for construction of houses and for a variety of other

expenses.
(34.1) Cooperative societies come under which source of credit ? 1
(34.2) Mention any two sources of capital of cooperative societies. é+é =1
(34.3) Explain the role of cooperative societies in increasing the income of
farmers. 2

35. Read the given source and answer the questions that follow :
Print and Censorship

The power of the printed word is most often seen in the way
governments seek to regulate and suppress print. The colonial
government kept continuous track of all books and newspapers published
in India and passed numerous laws to control the press.

During the First World War, under the Defence of India Rules,
22 newspapers had to furnish securities. Of these, 18 shut down rather
than comply with government orders. The Sedition Committee Report
under Rowlatt in 1919 further strengthened controls that led to imposition
of penalties on various newspapers. At the outbreak of the Second World
War, the Defence of India Act was passed, allowing censoring of reports of
war-related topics. All reports about the Quit India movement came under
its purview. In August 1942, about 90 newspapers were suppressed.
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(35.1) “THL T 379 T HIC |
(35.2) INUTIATRTR TITE ferdrelt 3T T-ufEenTsTl 9T RI7 T T&dT ot ?

(35.3) TITEfiSTt o {ete Tae % foreg, <ot W it 31% foham 2 foreell &1 ot i
e ST |

36. U T E I ufey X 3uF = fow 7w ywat & I e
SITSTeT ST Ueh TIRT

TSI o ITEX UrdT Tt 3 forehgientor TR ARt 3t |isha wifiaR aTel ik o
Tl T Ueh TIA&T0T TN TohaT § | 39 Y6 o TR-UNEE o HIAL Ueh HTaH Wl feha
TRIT 3T STY I o AN H AT et 3 3hT TR ST FHamfemi st fezm
21 39 IR HT 13 ARG 1T 379 6T T F91¢ dIT A § Wit ohd & | TTeT T
3 IT-EET T SieT T 7 — T 9 & o 7w a1 Fed & | ) 39-am
AU Fooh Bt & SRt ey 7 g T TWE ¥ ST UH 39 STk o afl
ATTIE ST & "o & | T, %5 Sah 9L IeT 1 TwIfard ot ol e o Bt & 39K
SHH ITEX T st TR YT o HehaT © | SOH Y16 o oI UL == =il & | $H o6
7 SEATET bl FRUTITEhT o WA U foharT ST & <Y Sifom Shaar ot 2 |

(36.1) ‘G eha o 37 ol Tqe hifSTg |

(36.2) AT o Sedn o Gy H, feIr T 3eTeTr foRy WehR AT IITE oITeT hi
TR AT ® 2

(36.3) SISt % I IATEL0T § ST FHET-S[eTdt W Shl SFEAT o ST T 0

i |
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(35.1) Explain the meaning of ‘censor’. 1

(35.2) Why did the colonial administration keep an eye on books and

newspapers ? 1

(35.3) Why did Gandhiji start a nationwide Satyagraha against the

Rowlatt Act ? Explain any two reasons. 2

36. Read the given source and answer the questions that follow :

An Experiment in Brazil

A city called Porto Alegre in Brazil has carried out an
extraordinary experiment in combining decentralisation with
participative democracy. The city has set up a parallel organisation
operating alongside the municipal council, enabling local inhabitants to
take real decisions for their city. The nearly 13 lakh people in this city get
to participate in making the budget for their own city. The city is divided
into many sectors or what we call wards. Each sector has a meeting, like
that of the gram sabha, in which anyone living in that area can
participate. There are some meetings to discuss issues that affect the
entire city. Any citizen of the city can participate in those meetings. The
budget of the city is discussed in these meetings. The proposals are put to

the municipality that takes a final decision about it.
(36.1) Explain the meaning of ‘participatory democracy’. 1

(36.2) In the context of separation of powers, the given example defines

which type of government ? 1

(36.3) Describe the structure of the system in India which is almost

similar to the above example of Brazil. 2
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(AT ShI9TeA-SATATRA o) (2+3=5)

87. () RA % G TSHfeh WEr-AHE (T53 27 W), § &1 T @ A’ 3TRCB’ %
Y T 3ifcra forar mor 7 | Ffafea smert i gemar @ 3% ggenfie ofit
3ok TR AT 3ok AT il 78 W@l W fafan : 2x1=2
A, I8 T S8l 1920 H WA TS Hidg T STTEeRH g7 T |
B. o8 TN S8l @ Mrish 3 3t Al ot gesta 6l off |

e : [HFTCTRad J9 Shaet greaTiera GRierTierat & 1o7Q o7 §&aT 37 () % € TWE |

@) () 36T & AW faRay SEt 1920 T IR TSS9 H AfeEE
g e |

(i) 38 A %1 AW fAfla st @ il 4 giet arel h AT A oAt | 2x1=2

(@) WA % gt T w@r-Ates §, fefafaa & & et a1 sugaa forsi
Y TIT3T 31T 3 A ferflae : 3x1=3
(i) S 3eured § i T
(i) Tora H feord qeaTyy St ER
(i) FRES H Reud e Tie-3eTa
(iv) 7% T g it il o ue

qe :  FHfREd T Faa gigaTtera qdteierai & fo7q 597 & 37 (W) % € WE |
@) gt a7 391 & SR T | 3x1=3
(1) S 3Icured ¥ Ul Ty 1 AW i |
(i) 38 TN o1 A fARI STl TSI # awaTy] Shoit 63 R € |
(iii) S8 T T W AT et sies | oite-geurd §97 e 7 |
(iv) 38 ¥ o1 9 fARae st #ft 76 0 e St sfasdia ary oo ferd
2
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them : 2x1=2

A. The place where the session of Indian National Congress
was held in 1920.

B. The place where Gandhiji started Dandi March.
Note : The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37 (a).

(a) (1) Name the place where the session of Indian National
Congress was held in 1920.

(i1) Name the place where Gandhiji started Dandi March. 2x1=2

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3

) Leading state in production of Jute
(i1)  Atomic Power Plant located in Gujarat
(iii) Iron and Steel Plant located in Jharkhand
(iv)  Sri Guru Ram Das Jee International Airport
Note: The following questions are for the Visually Impaired Candidates

only, in lieu of . No. 37 (b).
(b) Attempt any three questions. 3x1=3

1) Name the leading state in production of Jute.

(i1) Name the place where an Atomic Power Plant is located in
Gujarat.

(iii) Name the place where an Iron and Steel Plant is located in
Jharkhand.

(iv) Name the place where Sri Guru Ram Das Jee International
Airport is located.
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